

DISTRICT 2 E 42461 NON-FEDERAL

PROJECT: STATE PROJECT NUMBER: FED. PROJECT NUMBER: DATE BIDS OPEN: SCOPE OF WORK: COMPLETION DATE:	DISTRICT 2 E 42461 NON-FEDERAL February 25, 2021, Resurfacing various tier 2, 3, and 4 roadways in District 2. September 10, 2021	Awarded To: Amount: Award Date:	GMI ASPHALT LLC 288 LACONIA ROAD BELMONT, NH 03220 \$1,336,057.50	Certified by:	PETER.E.STAMNAS	
LOCATION:	Sullivan, Merrimack, Belknap, Grafton	y of Bidders			Bid Amount	Rank
GMI ASPHALT LLC	D, BELMONT NH 03220				\$1,336,057.50	A
CONTINENTAL PAVIN 1 CONTINENTAL D	IG INC RIVE, LONDONDERRY NH 03053				\$1,358,213.32	В
PIKE INDUSTRIES, IN	С.				\$1,373,470.60	С

3 EASTGATE PARK ROAD, BELMONT NH 03220



DISTRICT 2 E

42461

				F	PS&E	288 LAC	PHALT LLC ONIA ROAD IT, NH 03220	CONTINENTAL PAVING INC 1 CONTINENTAL DRIVE LONDONDERRY, NH 03053	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	3,094.20	\$20.38	\$63,059.80	\$18.00	\$55,695.60	\$18.00	\$55,695.60
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	42.50	\$202.17	\$8,592.23	\$80.00	\$3,400.00	\$125.00	\$5,312.50
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	11,762.00	\$3.68	\$43,284.16	\$3.50	\$41,167.00	\$3.50	\$41,167.00
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	16,616.00	\$71.09	\$1,181,231.44	\$63.20	\$1,050,131.20	\$65.22	\$1,083,695.52
417.	COLD PLANING BITUMINOUS SURFACES	SY	5,110.00	\$3.27	\$16,709.70	\$2.00	\$10,220.00	\$2.00	\$10,220.00
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	4,801.80	\$5.00	\$24,009.00	\$2.00	\$9,603.60	\$1.50	\$7,202.70
604.0007	POLYETHYLENE LINER	EA	12.00	\$128.87	\$1,546.44	\$138.00	\$1,656.00	\$125.00	\$1,500.00
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	10.00	\$455.85	\$4,558.50	\$450.00	\$4,500.00	\$400.00	\$4,000.00
604.52	RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES	LF	5.00	\$460.00	\$2,300.00	\$450.00	\$2,250.00	\$450.00	\$2,250.00
604.72	GRATES & FRAMES, TYPE B	EA	2.00	\$558.21	\$1,116.42	\$800.00	\$1,600.00	\$500.00	\$1,000.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
618.7	FLAGGERS	HR	1,000.00	\$37.00	\$37,000.00	\$38.00	\$38,000.00	\$36.00	\$36,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$2,450.05	\$4,900.10	\$800.00	\$1,600.00	\$1,000.00	\$2,000.00
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	133.70	\$5.40	\$721.98	\$4.00	\$534.80	\$10.00	\$1,337.00
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	33.90	\$11.00	\$372.90	\$3.00	\$101.70	\$10.00	\$339.00
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	149.40	\$5.21	\$778.37	\$4.00	\$597.60	\$10.00	\$1,494.00
692.	MOBILIZATION	U	1.00	\$60,000.00	\$60,000.00	\$30,000.00	\$30,000.00	\$20,000.00	\$20,000.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00
			Totals:		\$1,535,181.04		\$1,336,057.50		\$1,358,213.32
			Alt. Totals:						





DISTRICT 2 E

42461

NON-FEDERAL

				PS&E		GMI ASPHALT LLC 288 LACONIA ROAD BELMONT, NH 03220		CONTINENTAL PAVING INC 1 CONTINENTAL DRIVE LONDONDERRY, NH 03053	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
		Totals:		\$1,535,181.04		\$1,336,057.50		\$1,358,213.32	



DISTRICT 2 E

42461

NON-FEDERAL

				F	PS&E		JSTRIES, INC. TE PARK ROAD IT, NH 03220		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	3,094.20	\$20.38	\$63,059.80	\$16.75	\$51,827.85	
		-						
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	42.50	\$202.17	\$8,592.23	\$110.00	\$4,675.00	
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	11,762.00	\$3.68	\$43,284.16	\$3.00	\$35,286.00	
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	16,616.00	\$71.09	\$1,181,231.44	\$66.00	\$1,096,656.00	
417.	COLD PLANING BITUMINOUS SURFACES	SY	5,110.00	\$3.27	\$16,709.70	\$3.00	\$15,330.00	
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	4,801.80	\$5.00	\$24,009.00	\$1.00	\$4,801.80	
604.0007	POLYETHYLENE LINER	EA	12.00	\$128.87	\$1,546.44	\$120.00	\$1,440.00	
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	10.00	\$455.85	\$4,558.50	\$500.00	\$5,000.00	
604.52	RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES	LF	5.00	\$460.00	\$2,300.00	\$500.00	\$2,500.00	
604.72	GRATES & FRAMES, TYPE B	EA	2.00	\$558.21	\$1,116.42	\$700.00	\$1,400.00	
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	
618.7	FLAGGERS	HR	1,000.00	\$37.00	\$37,000.00	\$36.00	\$36,000.00	
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$2,450.05	\$4,900.10	\$1,000.00	\$2,000.00	
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	133.70	\$5.40	\$721.98	\$3.50	\$467.95	
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	33.90	\$11.00	\$372.90	\$10.00	\$339.00	
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	149.40	\$5.21	\$778.37	\$5.00	\$747.00	
692.	MOBILIZATION	U	1.00	\$60,000.00	\$60,000.00	\$30,000.00	\$30,000.00	
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	
	Totals:			\$1,535,181.04		\$1,373,470.60		
	Alt. Totals:							



DISTRICT 2 E

42461

NON-FEDERAL

				PS&E		PIKE INDUSTRIES, INC. 3 EASTGATE PARK ROAD BELMONT, NH 03220			
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
	Totals:				\$1,535,181.04		\$1,373,470.60		



DISTRICT 2 E

42461

NON-FEDERAL

				A-Bid	der	PS8	ξЕ	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
ltems								
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	3,094.20	\$18.00	\$55,695.60	\$20.38	\$63,059.80	(\$7,364.20)
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	42.50	\$80.00	\$3,400.00	\$202.17	\$8,592.23	(\$5,192.23)
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	11,762.00	\$3.50	\$41,167.00	\$3.68	\$43,284.16	(\$2,117.16)
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	16,616.00	\$63.20	\$1,050,131.20	\$71.09	\$1,181,231.44	(\$131,100.24)
417.	COLD PLANING BITUMINOUS SURFACES	SY	5,110.00	\$2.00	\$10,220.00	\$3.27	\$16,709.70	(\$6,489.70)
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	4,801.80	\$2.00	\$9,603.60	\$5.00	\$24,009.00	(\$14,405.40)
604.0007	POLYETHYLENE LINER	EA	12.00	\$138.00	\$1,656.00	\$128.87	\$1,546.44	\$109.56
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	10.00	\$450.00	\$4,500.00	\$455.85	\$4,558.50	(\$58.50)
604.52	RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES	LF	5.00	\$450.00	\$2,250.00	\$460.00	\$2,300.00	(\$50.00)
604.72	GRATES & FRAMES, TYPE B	EA	2.00	\$800.00	\$1,600.00	\$558.21	\$1,116.42	\$483.58
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
618.7	FLAGGERS	HR	1,000.00	\$38.00	\$38,000.00	\$37.00	\$37,000.00	\$1,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$800.00	\$1,600.00	\$2,450.05	\$4,900.10	(\$3,300.10)
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	133.70	\$4.00	\$534.80	\$5.40	\$721.98	(\$187.18)



DISTRICT 2 E

42461

NON-FEDERAL

				A-Bide	der	PS8	λΕ.	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	33.90	\$3.00	\$101.70	\$11.00	\$372.90	(\$271.20)
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	149.40	\$4.00	\$597.60	\$5.21	\$778.37	(\$180.77)
692.	MOBILIZATION	U	1.00	\$30,000.00	\$30,000.00	\$60,000.00	\$60,000.00	(\$30,000.00)
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$0.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$0.00

Total:

\$1,336,057.50

(\$199,123.54)

\$1,535,181.04